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38 AreafAs arem dr RAfarer, 39l e fr Farer Aeafiar arelr sam $r 0l sgaedr
Il §, difch 3oToh el faganell, urs & anfAe g 9| a8 Tarfas fhamsi =, 3R
T O &I & ¥ Ugel, dog, i 3R f@sor & IR &7 Seadr &

fafareT: 3?2 397 @41 g §2 39 Fa|

faeamdt ¢: 307 95 O @14 &, 3] IE-IE @ §, I H] FEeld ¢
fafarer: 3R e e 3R, & S

fearff: Ma'am, ar feFd raear # ® Fohd &

RAf&FT: ar AFd raeur # ® Fohd &1 S §? HT IS TS exercise § JFER Tl T S
AT & bunch €, 378 §H fhcell a6 & 3] &1 Hehol &, F @ g 3R T
groupwork B3| §H HeIhe group A 86 S| ¢S gH SABT| HYS-319eT group H
3Tl A

g9 AT g1
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Tel, Tell, Tell...

ar Sefehl TR T A s
You made?

fagamdt 2: CI Bl




gzt 3: I =N
ferferer ameTTePR:

$ T W gld §, S gUaTd 98 €1 They are not very active. @l 3ad dra-sra &
questions & I AT €1 &1 ThT &, F5 ST click 5T T T &, ar Jgar 9, 39 click T
Sial

ff@isr: T g important WS, T 9T DS W & Atoms feT &, atoms IR molecules
H T e g1 g2 ar et |
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W 915 & NreT TRAfRTT @3l A $meT o & fT dicwnfed &t 81 3egie eyt
ogenl 3N orsfedl & 3efer 37T Heg 3N TATAT wogh # aier &

RfdF: S, 3T 39| W, FEA-TFAa FAT SA™T? & §ART Ygell group?
fagardt 3: N, @', sodium.
Rfaer: S

fagardt 3: ‘N, @', sodium.

RAf&T: Very good! 319 ¥ AT group FS TATTIM? FIT FATAT HTA?
fagardt v: Ma'am, ‘H, 'C, .

fRf&er: HCI, very good!

fagardt o: Ma'am, 0.

AT 0;. Very good! AR 91F ‘O’ T 39 §Ha1 O, Y a3, 3R 0, ¢ F=ram|
Ozone! 3719 g8& dIc, dcd, Al 3R fFsor..




FHCT:
e, RAfETHT, dea, At 3R For & aRensT T ==l e g, feafdiat & fav =Et
T 3TANT Fh, T AfAfaf dIR & §1 39 vy ), fagafdal a &3 IR TeiameAr

giar 81 3R Ig a1fafaf®, 3¢ Harer qoa 1, 3R 3ue |t @ draer & At S g

IRIGEIRR: IS JER

ggol dl & pairs H &1 X 1§ &1 al-al s, FIY H FH = I} &1 3R aF 5= §,
eifeheT Gt #T individuality 7 SRR UH W9, T gl & &g # 319K consensus &l
AT answer 9, dl-ar 81 g 3R 39K consensus &l & 8T 8, 37 FEHATd aTgl o1 dT
T g, ar T @Y, 39 91T option & fF @ 379aT 3179 answer f@r o fo, “TE WX
fRee & & 17 o SHA obligatory & SraT &, fh s dielem ar § €1 3HA $o Aree
g, 3R 3T& ¢ & Iaer &1 ar dF agl o F, ‘g Fhar § answer #, & e THATT
gl Tt &7 0T g1 A 3/ PR ST S vigilant §, @ el F T, 38 click X,
CHT AT AET 82 ol 3PR GAWT 7 31ar g, o ar 3§ fgem A o e o

fagardt & 3 Far 87

faeameft o: 30T ar g arae? Ao 3 & g, forar gA|
faeameft ¢: 3Rk & 0T &1 getehr Jrequra ifAREd & 3R
fagaredt «: 3r9AT 8, 3 3rerer-srerT g

fRf&er: 8% &, question number one, I FT §?

qH, NS I 39, A

Rrgamet ¢: swet weh PRRea srgara # &

faf@n @i A WRfRad segaa &7 &2

3TBT? 39 FAT Fg WY 8, deal T fASOT & A?




Tgl ol 93 interesting AT 31T I§ &1 dea, f@%Or, Tifden| S, 30T ek Sai3h Hq3,

gzt <: Maam, dcdl 3T ATt 1 fAsor § A
A& g, 39 FIT Fg | 2
fagaredt so: Ma’am, & a, am ar ¥ HWH, ma'am, ATF §

AT T =i & oo, F A g g, aY ff & | dcd & T AT, T & g AT
A of ar? 3 @
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39 & afafafedt ik Togt & Aeer sade, daife I8 giAafRad & g fh, aef
faezmeft, rcaAfarara & ary #nfie’r & W) &2




